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                                                  Medidas de tiempo  

                               (pasar de una unidad a otra) 

Solución _________________________________________________________________________ 

 

 9 h     9 x 60 = 540 min 

 1.800 s     1.800: 60 = 30 min 

 45 min     45 x 60 = 2.700 s 

 5 h     5 x 3.600 = 18.000 s 

 74.660.400 s    74.660.400 : 3.600 = 23 h 

 23 min     23 x 60 = 1.380 s 

 1.920 s     1.920 : 60 = 32 min 

 21 h     21 x 3.600 = 75.600 s 

 660 min    660 : 60 = 11 h 

 9 h     9 x 60 = 540 min 

 2.880 s     2.880 : 60 = 48 min 

 82.800 s     82.800 : 3.600 = 23 h 

 3 h     3 x 60 = 180 min 

 25.200 s     25.200 : 3.600 = 7 h  

 32 h     32 x 60 = 1.920 min 

 22 min    22 x 60 = 1.320 s 

 165.600 s    165.600 : 3.600 = 46 h 

 1.020 min    1.020 : 60 = 17 h 

 20 h    20 x 3.600 = 72.000 s 

 14 h     14 x 60 = 840 min 


